BREHER (SER EERX) )
| THETAT 4 | LXEH |
| #EERZ | 19:20 |
EA
EE) 5 = B
BELAFEEHR 10, 462 A 11,765 X 22 227 N
REER 5120 A 5875 A 10,995 X
MR LEREEH 3,049 A 3,315 A 6,364 A
HBEAREEH 2,015 A 2,473 N 4,488 A
FHEEREER 56 A 87 A 143 A
ZIEER 5342 A 5,890 A 11,232 X
RER 48.94 % 49.94 9% 49 47 %
£
EE) 5 = B
BELEHEEHR 12 A 11 A 3 A
REER 0 A 0 A 0 A
AR LEREEH 0 A 0 A 0 A
HBERREEH 0 A 0 A 0 A
THEEREEHN 0 A 0 A 0 A
ENNEREEHN 0 A 0 A 0 A
EEEREEHN 0 A 0 A 0 A
ZIEER 12 A 11 A 23 A
RER 0.00 % 0.00 % 0.00 %
B+ &5
E) E & 5
BELOHEEHR 10, 474 X 11,776 A 22 250 A
REERK 5120 A 5875 A 10,995 X
ZIEEHN 5,354 A 5,901 A 11,255 A
RER 48.88 % 49.89 9% 49.42 %
HuEL | EXEHENSE
BiEEE | 0964-26-5525
EIERZI 19:24




